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1. Which company stands on five 

pillars in equality, mutual trust, 

supervision, self-reliance and 

spontaneity?    

(A)   Cooperative organisation 

(B) Limited liability company 

(C) One man company 

(D) Joint stock company 

 1. dkSu lh dEiuh ikap rF;ksa vFkkZr lekurk] 

ijLij fo’okl] i;Zos{k.k] vkRefuHkZjrk ,oa 

lgtrk ij fuHkZj djrk gS\ 

(A) lgdkjh laxBu 

(B) lhfer nkf;Ro dEiuh 

(C) ,d O;fDr dEiuh 

(D) la;qDr LdU/k dEiuh 

2. Which one is not a characteristics 

of good business organisations?  

(A)   Adequacy of capital 

(B) Limit of Liability 

(C) Flexibility of operations 

(D) No legal formalities  

 2. dkSu lh csgrj O;olkf;d laxBuksa dh 

fo’ks”krk ugha gS\ 

(A) iw¡th dh i;kZIrrk 

(B) nkf;Ro dh lhek 

(C) ifjpkyu dk yphykiu 

(D) dksbZ dkuwuh vkSipkfjdrk ugha 

3. An attractive structure of business 

where individuals are not 

personally liable for the losses of 

the company is known as: 

(A)   Limited liability company 

(B) One man company 

(C) Joint stock company 

(D) Unlimited companies 

 3. O;olk; dk ,d vkd”kZd lajpuk tgka 

O;fDr dEiuh ds gkfu ds fy, O;fDrxr 

:Ik ls mRrjnkf;Ro ugha gS] ds :Ik esa tkuk 

tkrk gS% 

(A) lhfer nkf;Ro dEiuh 

(B) ,d O;fDr dEiuh 

(C) la;qDr LdU/k dEiuh 

(D) vlhfer dEifu;ka 
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4. A form of activity pursued 

primarily with the object of 

earning profit for the benefit of 

those on whose behalf the activity 

is conducted, is called as: 

(A)   Profession 

(B) Selling 

(C) Business 

(D) Marketing 

 4. xfrfof/k dk ,d :i eq[;r% mu O;fDr;ksa 

ds fy, ykHk vtZu ds mn~ns’; ls lapkfyr 

fd;k tkrk gS] ftuds vk/kkj ij xfrfof/k 

lapkfyr dh tkrh gS mUgsa dgk tkrk gS% 

(A) is’kk 

(B) foØ; 

(C) O;olk; 

(D) foi.ku 

5. Which of the following is a 

characteristic of a cooperative? 

(A)   Profits are not subject to 

income tax  

(B) One vote per share 

(C) Dividends are paid on a per 

share basis 

(D) All liabilities are of partners  

 5. fuEufyf[kr esa ls dkSu ,d lgdkjh dh 

fo’ks”krk gS\ 

(A) ykHk vk;dj ds v/khu ugha vkrk gSA 

(B) izfr va’k ds fy, ,d er 

(C) ykHkka’k dk Hkqxrku izfr va’k ds vk/kkj 

ij fd;k tkukA 

(D) lHkh nkf;Ro lk>snkjksa ds gksrs gSA 

6. The main disadvantage of a 

general partnership is:  

(A)   The unlimited liability of the 

partners.  

(B) Disagreement amongst 

partners.  

(C) Shared management 

(D) Difficulty of termination  

 6. ,d lkekU; lk>snkjh dk eq[; nks”k ;g gS 

fd% 

(A) lk>snkjksa dk vlhfer nkf;Ro 

(B) lk>snkjksa ds e/; vlgefr 

(C) lk>k izcU/ku 

(D) lekfIr dh dfBukbZ 
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7. Which of the following 

organizational structure is 

followed by cooperatives in India?  

(A)   Unitary structure 

(B) Federal structure 

(C) Centralized structure 

(D) Decentralized structure 

 7. fuEufyf[kr esa ls fdl laxBukRed lajpuk 

dk vuqlj.k Hkkjr esa lgdkfjrk }kjk fd;k 

tkrk gS\ 

(A) ,dkRed lajpuk 

(B) la?kh; lajpuk 

(C) dsUnzh;—r lajpuk 

(D) fodsUnzh—r lajpuk 

8. The companies Act,2013 

introduced the mostradical 

concepts of “oneperson company 

or OPC also known as: 

(A)   One company 

(B) One man company 

(C) Individuals company  

(D) Owners company 

 8. dEiuh vf/kfu;e 2013 ds vuqlkj ,d 

O;fDr dEiuh ;k vksihlh dks fdl :Ik esa 

Hkh tkuk tkrk gS% 

(A) ,dy dEiuh 

(B) ,dy O;fDr dEiuh 

(C) O;fDrxr dEiuh 

(D) LokfeRo dEiuh 

9. The first directors of a company 

are appointed by: 

(A)   Promoters 

(B) Registrar of companies 

(C) Shareholders 

(D) None of these 

 9. dEiuh ds izFke lapkyd dh fu;qDr dh 

tkrh gS% 

(A) izorZd 

(B) jftLVªkj ¼dEiuh dk½  

(C) va’k/kkjd 

(D) buesa ls dksbZ ugha 
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10. Minimum member of directors in a 

public limited company: 

(A)   2 

(B) 3 

(C) 7 

(D) 10 

 10. ,d lkoZtfud lhfer dEiuh esa lapkydks 

dh U;wure la[;k gS% 

(A) 2 

(B) 3 

(C) 7 

(D) 10 

11. Partnership deed should be: 

(A)   Oral 

(B) Implied 

(C) Written on stamped paper 

(D) Written 

 11. lk>snkjh lays[k gksuk pkfg,% 

(A) ekSf[kd 

(B) lkadsfrd 

(C) LVkEi isij ij fyf[kr 

(D) fyf[kr 

12. “One-man control is the best” is 

said by: 

(A)   Haney 

(B) Kimball and kimball 

(C) William R. Basset 

(D) None of these 

 12. Þ,d O;fDr dk fu;U=.k fo’o esa loZJs”B 

gksrk gS**] dgk Fkk%  

(A) gSus 

(B) fdEcky ,oa fdEcky 

(C) fofy;e vkj cslsV 

(D) buesa ls dksbZ ugh 
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13. Which of the following is an 
example of a public corporation? 
(A)   Indian oil  
(B) Hospital for sick children 
(C) Mouviss Caisse Desjardin  
(D) YMCA  

 13. fuEufyf[kr esa ls dkSu lk ,d lkoZtfud 

fuxe dk mnkgj.k gS\ 

(A) bf.M;u vkW;y 

(B) chekj cPpksa ds fy, vLirky 

(C) ekSfol dkbls MsltkfMZx 

(D) YMCA 

14. Hindu succession Act was 
passedin:  
(A)   1952 
(B) 1960 
(C) 1932 
(D) 1956 

 14. fgUnw mŸkjkf/kdkj vf/kfu;e ikfjr fd;k 

x;k Fkk% 

(A) 1952 

(B) 1960 

(C) 1932 

(D) 1956 

15. Co-operative play an important 

role in: 

(A)   Aerospace 

(B) Agriculture 

(C) Manufacturing 

(D) Production 

 15. lgdkjh lfefr;ka blesa egRoiw.kZ Hkwfedk 

fuHkkrh gS% 

(A) ,;jksLisl 

(B) —f”k 

(C) fofuekZ.k 

(D) mRiknu 

16. The board of directors of a joint 

stock company is elected by: 

(A)   General public 

(B) Government bodies 

(C) Shareholder 

(D) Employees 

 16. ,d la;qDRk LdU/k dEiuh ds funs’kd e.My 

fu;qDr fd;k tkrk gS% 

(A) lkekU; turk 

(B) ljdkjh fudk; 

(C) va’k/kkjdksa 

(D) deZpkfj;ksa 
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17. At least 10 adults, no maximum 
limit in case of: 
(A)   Cooperative society 
(B) Joint Hindu family 
(C) Partnership 
(D) Company 

 17. de ls de 10 o;Ld --------------- ds lUnHkZ esa 

dksbZ vf/kdre lhek ugha gksrh gS% 

(A) lgdkjh lfefr 

(B) la;qDr fgUnw ifjokj 

(C) lk>snkjh 

(D) dEiuh 

18. The form of business organisation 
that has the largest sales volume is 
the:  
(A)   Partnership 
(B) Corporation 
(C) Cooperative 
(D) Multinational 

 18. O;kolkf;d laxBu dk ,slk :i ftlesa 

lcls vf/kd fcfØ dh tkrh gS% 

(A) lk>snkjh 

(B) fuxe 

(C) lgdkjh 

(D) cgqjk”Vªh; 

19. In a cooperative society the 

principle followed is: 

(A)   One share one vote 

(B) One man one vote 

(C) No vote 

(D) Multiple votes 

 19. ,d lgdkjh lfefr esa fl)kRu dk ikyu 

fd;k tkrk gS% 

(A) ,d er ,d va’k 

(B) ,d O;fDr ,d er 

(C) dksbZ er ugha 

(D) cgqvk;keh er 

20. The life of sole proprietorship 

business is:  

(A)   Unstable 

(B) Stable 

(C) Very shot life 

(D) Long life 

 20. ,dy LokfeRo O;olk; dh thou gksrk gS% 

(A) vfLFkj  

(B) fLFkj 

(C) cgqr vYi thou 

(D) nh?kZ thou 
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21. Which expert committee proposed 
the concept of OPC for the first 
time in 2005? 
(A)   Narayan committee 
(B) Dr. J. J. Irani 
(C) Chandra committee 
(D) Ganguli committee 

 21. fdl fo’ks”kK lfefr us 2005 esa izFke ckj 

,d O;fDr dEiuh dh vo/kkj.kk dk izLrko 

j[kk Fkk\ 

(A) ukjk;.k lfefr 

(B) MkWŒ tssŒ tsŒ bZjkuh 

(C) pUnzk lfefr 

(D) xkaxqyh lfefr 

22. Profit do not have to be shared 
thisstatement refers to: 
(A)   Partnership 
(B) Joint Hindu family firm 
(C) Sole trader ship 
(D) Company 

 22. ykHk dk foHkktu djuk vko’;d ugha gS ;g 

dFku lacaf/kr gS% 

(A) lk>snkjh 

(B) la;qDr fgUnw ifjokj QeZ 

(C) ,dy O;kikj 

(D) dEiuh 

23. Companies which have unlimited 
liabilities are known as? 
(A)   Limited liability company  
(B) One man company 
(C) Joint stock company 
(D) Unlimited companies 

 23. ftu dEifu;ksa dk vlhfer nkf;Ro gksrk gS 

mUgsa ds :Ik esa tkuk tkrk gS\ 

(A) lhfer nkf;Ro dEiuh 

(B) ,dy O;fDr dEiuh 

(C) la;qDr LdU/k dEiuh 

(D) vlhfer dEifu;ka 

24. An undertaking which is 
controlled and operated by the 
government as its sole owner on 
major shareholder? 
(A)   Sole trader 
(B) Public enterprise 
(C) Private enterprise 
(D) Joint stock company 

 24. ,d miØe tks eq[; va’k/kkjd ij vius 

,dek= Lokeh ds :Ik esa ljdkj }kjk 

fu;af=r ,oa lapkfyr gksrk gS\ 

(A) ,dy O;kikjh 

(B) lkoZtfud miØe 

(C) futh miØe 

(D) la;qDr LdU/k dEiuh 
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25. Liability of a sale proprietor is:  
(A)   Limited 
(B) Unlimited 
(C) Both (A) and (B) 
(D) None of these 

 25. ,dy O;olk;h dk nkf;Ro gksrk gS% 

(A) lhfer 

(B) vlhfer 

(C) (A) o (B) nksuksa 

(D) buesa ls dksbZ ugha 

26. Which of the following is a false 

statement? 

(A)   The scope of commerce is 

narrower than business  

(B) Commerce includes trade and 

aids of trade 

(C) Foreign trade is purchase and 

sale by the traders of same 

country 

(D) Traders serve as a link 

between producers and 

consumers 

 26. fuEufyf[kr esa ls dkSu lk ,d xyr dFku 

gS\ 

(A) okf.kT; dk nk;jk O;olk; dh rqyuk 

esa ladh.kZ gSA  

(B) okf.kT; esa O;kikj ds lgk;d ‘kkfey 

gS  

(C) ,d gh ns’k ds O;kikfj;ksa }kjk [kjhn 

vkSj fcØh fons’kh O;kikj ds vUrxZr 

gSA 

(D) O;kikjh mRikndksa vkSj miHkksDrkvksa ds 

chp ,d dM+h ds :Ik esa dk;Z djrs 

gSA 

27. Identify the activity which does 

not support trade? 

(A)   Banking  

(B) Warehousing 

(C) Insurance  

(D) Mining 

 27. ml xfrfof/k dks igpkus tks O;kikj dk 

leFkZu ugha djrh gS\ 

(A) cSafdx  

(B) os;jgkmflax 

(C) chek 

(D) [kuu 
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28. In which industry, the support 
serviceactivity are categorized? 
(A)   Commercial industries  
(B) Primary industries 
(C) Secondary industries 
(D) Tertiary industries  

 28. fdl m|ksx esa] lgk;rk lsok xfrfof/k;ksa dks 

oxhZÑr fd;k tkrk gS\ 

(A) okf.kfT;d m|ksx 

(B) izkFkfed m|ksx 

(C) ek/;fed m|ksx 

(D) rr̀h;d m|ksx 

29. Which of these is the business 
activity? 
(A)   Purchase and sale of goods 
(B) Worship in the Temple 
(C) Fraud with the customers 
(D) Adulteration in the mustard 

oil  

 29. buesa ls dkSu lh O;kolkf;d fØ;k gS\ 

(A) eky dk Ø;&foØ; 

(B) eafnj esa iwtk djuk 

(C) xzkgdksa ds lkFk /kks[kk djuk 

(D) ljlksa ds rsy esa feykoV djuk 

30. Which of the following is the 
example of business uncertainties? 
(A)   Earthquake 
(B) Draught  
(C) Change in prices 
(D) All of these 

 30. fuEu esa ls dkSUk lk O;kolkf;d vfuf’prrk 

dk mnkgj.k gS\ 

(A) HkwdEi 

(B) lw[kk 

(C) ewY;ksa esa ifjorZu 

(D) ;s lHkh 

31. Business Includes: 

(A)   All human activities  

(B) All human economic 

activities 

(C) All human non-economic 

activities 

(D) None of the above 

 31. O;olk; ds vUrxZr% 

(A) ekuo dh leLr fØ;k,¡ vkrh gSA  

(B) ekuo dh leLr vkfFkZd fØ;k,a vkrh 

gSA 

(C) ekuo dh leLr vukfFkZd fØ;k,a 

vkrh gSA 

(D) buesa ls dksbZ ugha 
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32. Economic objectives of a business 

do not include: 

(A)   Creation of customer 

(B) Continuous innovations 

(C) Creation of employment 

(D) Best possible use of resources 

 32. fdlh O;olk; ds vkfFkZd mÌs’;ksa esa ‘kkfey 

ugha gS% 

(A) xzkgdksa dk l̀tu 

(B) lrr~ uokpkj 

(C) jkstxkj dk l̀tu 

(D) lalk/kuksa dk loksZŸke lEHko iz;ksx 

33. Which of the following is not a 

characteristics of business? 

(A)   Dealing in goods-in trade  

(B) A father teaching his son 

(C) Involves risk and uncertainty 

of income 

(D) Aims at earning profits 

 33. fuEufyf[kr esa ls dkSu lk O;olk; dh 

fo’ks”krk ugha gS\ 

(A) oLrq dk O;olk; essa O;ogkj djuk 

(B) ,d firk }kjk vius csVs dks i<+kuk  

(C) tksf[ke rFkk vk; dh vfuf’prrk dks 

‘kkfey djrk gS 

(D) ykHk vtZu ds mn~ns’; ls 

34. Which objective of business 

include?  

(A)   Contribution to the general 

welfare of the society 

(B) Best possible use of 

economic resource  

(C) Creation of customers 

(D) Profit generation 

 34. O;olk; ds lkekftd mís’; esa ‘kkfey gS\ 

(A) lekt ds lkekU; dY;k.k esa ;ksxnku 

(B) vkfFkZd lalk/kuksa dk loksZŸke lEHko 

iz;ksx  

(C) xzkgdksa dk l̀tu 

(D) ykHk l̀tu 
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35. ……….. occupies the central place 

in business. 

(A)   People 

(B) Raw material 

(C) Labour 

(D) Finished goods 

 35. ----------------- O;olk; esa dsUnzh; LFkku j[krk 

gSA 

(A) O;fDr 

(B) dPph lkexzh 

(C) Jfed 

(D) fufeZr oLrq 

36. “Business is the way be which 

men make their living” who said? 

(A)   Mc Naughton 

(B) Malvin Anshen 

(C) Lewis H. Haney 

(D) Keith and Gubellini 

 36. ÞO;olk; thfodksiktZu dk ,d ek/;e gSß 

fdlus dgk\ 

(A) eSd ukV~u 

(B) esfYou ,sUlu 

(C) ywbl ,p- gSus 

(D) dhFk ,oa xqcsfyuh 

37. Which one is non-economic 

activity? 

(A)   Business 

(B) Science 

(C) Charity 

(D) Profession 

 37. fuEu esa ls xSj vkfFkZd fØ;k gS\ 

(A) O;olk; 

(B) foKku 

(C) ijksidkj 

(D) is’kk 

38. Profit, and service motives are: 

(A)    Contradictory  

(B) Complimentary  

(C) Reciprocating  

(D) None of the above 

 38. ykHk vkSj lsok mÌs’; gS% 

(A) ijLij fojks/kh 

(B) ,d nwljs ds iwjd 

(C) ,d nwljs ds lg;ksxh 

(D) buesa ls dksbZ ugha 
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39. Basis of business progress is: 

(A)   Maximizing the profit 

(B) Maximizing output 

(C) Maximum customer 

satisfaction  

(D) Maximizing the customers  

 39. O;olk; dh izxfr dk vk/kkj gS% 

(A) vf/kdre ykHk dekuk 

(B) vf/kdre mRiknu djuk 

(C) vf/kdre xzkgd larqf”V 

(D) vf/kdre xzkgd cukuk 

40. Meaning of the Business is: 

(A)   Manufacturing goods  

(B) Purchase and sale of goods 

(C) Social Service 

(D) All of these 

 40. O;olk; dk vFkZ gS% 

(A) Ekky dk fuekZ.k 

(B) eky dk Ø;& foØ; 

(C) lkekftd lsok 

(D) buesa ls lHkh 

41. “Business like weather is with us 

every day.” who said this out of 

the following? 

(A)   Wheeler 

(B) Haney 

(C) Marshal 

(D) Batliboi  

 41. ÞekSle dh Hkk¡fr O;olk; Hkh lnSo gekjs 

lkFk jgrk gSAß ;g dFku fdlls lacaf/kr gS\  

(A) Oghyj 

(B) gSus 

(C) ek’kZy 

(D) ckVyhck; 

42. The most wide scope is: 

(A)   Of Trade 

(B) Of Commerce 

(C) Of Industry 

(D) Of Business 

 42. lcls O;kid {ks= gS% 

(A) O;kikj dk 

(B) okf.kT; dk 

(C) m|ksx dk 

(D) O;olk; dk 
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43. Oil refinery and sugar mill are 

classified under which industries? 

(A)   Primary 

(B) Secondary 

(C) Tertiary 

(D) None of the above 

 43. rsy fjQkbujh vkSj phuh fey dks fdu 

m|ksxksa ds rgr oxhZ—r fd;k x;k gS\ 

(A) izkFkfed 

(B) f}rh;d 

(C) rr̀h;d 

(D) mijksDr esa ls dksbZ ugha 

44. Which option is not a business 

activity? 

(A)   Production of goods 

(B) Transportation  

(C) Exchange of goods 

(D) Work in a factory for wages 

 44. dkSu lk fodYi O;kolkf;d fØ;k ugha gS\ 

(A) eky dk mRiknu 

(B) ifjogu 

(C) eky dk fofue; 

(D) etnwjh ds fy, fdlh dkj[kkus esa 

dke djuk 

45. Which one is an extracting 

industry? 

(A)   Animal Husbandry 

(B) Fishing from sea-shore 

(C) Poultry farming 

(D) Plantation  

 45. fuEu esa ls fu”d”kZ.k m|ksx dkSu lk gS\ 

(A) i’kqikyu 

(B) leqnzry ls eNyh idM+uk 

(C) eqxhZikyu 

(D) ò{kkjksi.k 

46. Economic activity =? 

(A)   Business + Profession + 

Employment 

(B) Profession + Employment 

(C) Business + Employment 

(D) Business + Profession 

 46. vkfFkZd fØ;k =? 

(A) O;olk; $ is’kk $ jkstxkj 

(B) is’kk $ jkstxkj 

(C) O;olk; $ jkstxkj 

(D) O;olk; $ is’kk 
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47. Business organization is an 
economic arrangement of persons 
where all efforts are directed to 
achieve: 
(A)   Only profit 
(B) Common economic goal 
(C) Competitive advantage 
(D) Standardization  

 47. O;kolkf;d laxBu O;fDr;ksa dh ,d vkfFkZd 

O;oLFkk gS tgka lHkh iz;klks dks izkIr djus 

ds fy, funsZf’kr fd;k tkrk gS% 

(A) dsoy ykHk 

(B) lkekU; vkfFkZd y{; 

(C) izfr;ksxh ykHk 

(D) ekudhdj.k 

48. Todays business is characterized 

by: 

(A)   Diversification  

(B) Loss 

(C) Fight 

(D) Conflict 

 48. orZeku O;olk; dh fo’ks”krk gS% 

(A) fofo/khdj.k 

(B) gkfu 

(C) yM+kbZ 

(D) la?k”kZ 

49. Which of the following can not be 

classified as an objective of 

business? 

(A)   Investment 

(B) Productivity 

(C) Innovation 

(D) Profit earning 

 49. fuEufyf[kr esa ls fdls O;olk; ds mn~ns’; 

ds :Ik esa oxhZ—r ugha fd;k tk ldrk gS\ 

(A) fuos’k 

(B) mRikndrk 

(C) uokpkj 

(D) ykHk vtZu 

50. Included in commerce: 

(A) Business and industries 

(B) Only business 

(C) Sale and purchase of goods 

(D) Trade and Aids to trade 

 50. okf.kT; esa lfEefyr gS% 

(A) O;olk; ,oa m|ksx 

(B) dsoy O;olk; 

(C) oLrqvksa dk Ø;&foØ; 

(D) O;kikj ,oa O;kikj dh lgk;d fØ;k, 
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51. When was the associated chamber 

of commerce formed? 

(A)   1920 

(B) 1926 

(C) 1930 

(D) 1932 

 51. ,slksfl,VsM pSEcj vkWQ dkWelZ dk xBu dc 

fd;k x;k\ 

(A) 1920 

(B) 1926 

(C) 1930 

(D) 1932 

52. The main objective of Horizontal 

combination is: 

(A)   Maximise Profit  

(B) Maximise Production 

(C) End to useless competition 

(D) Expanding business 

 52. leryh; la;kstu dk eq[; mn~ns’; gksrk gS% 

(A) vf/kd ykHk dekuk 

(B) vf/kd mRiknu djuk 

(C) vuqi;ksxh izfrLIk/kkZ dk vUr djuk 

(D) O;olk; dk {ks= c<+kuk 

53. The following is an example of 

vertical combination: 

(A)   Cloth Industry 

(B) Cement Industry 

(C) Sugar Industry 

(D) Steel Industry 

 53. fuEu esa yEcor la;kstu dk mnkgj.k gS% 

(A) diM+k m|ksx 

(B) lhes.V m|ksx 

(C) ‘kDdj m|ksx 

(D) bLikr m|ksx 

54. Where is the head office of 

international chamber of 

commerce: 

(A)   Delhi 

(B) Paris 

(C) London 

(D) Italy 

 54. bUVjus’kuy pSECkj vkWQ dkWEklZ dk iz/kku 

dk;kZy; dgk¡ gS% 

(A) fnYyh 

(B) isfjl 

(C) yUnu 

(D) bVyh 
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55. A.C.C and Sugar syndicate are 

examples of which combination? 

(A)   Horizontal Combination  

(B) Vertical Combination  

(C) Circular Combination  

(D) Diagonal Combination 

 55. A.C.C RkFkk ‘kqxj fl.MhdsV fdl la;kstu 

ds mn~ns’; gSa\ 

(A) leryh; la;kstu 

(B) yECkor la;kstu 

(C) òÙkh; la;kstu 

(D) fod.khZ; la;kstu 

56. There stages of Rationalization 

are:  

(A)   Planning,Development, 

reorganization   

(B) Planning, reorganization, 

Development  

(C) Development, reorganization, 

Planning 

(D) Reorganization, Planning, 

Development 

 56. foosdhdj.k izfØ;k ds rhu pj.k gS% 

(A) fu;kstu] fodkl] iqulZaxBu 

(B) fu;kst] iqulZaxBu] fodkl 

(C) fodkl] iqulZaxBu] fu;kstu 

(D) iqulZaXkBu] fu;kstu] fodkl 

57. Who used the word 

“Rationalization”first? 

(A)   Max weber 

(B) F. W. Tailor 

(C) Peter F. Drucker 

(D) Breech 

 57. “Rationalization”‘kCn dk iz;ksx loZizFke 

fdlus fd;k\ 

(A) eSDl oscj 

(B) ,QŒ MCY;wŒ Vsyj 

(C) ihVj ,QŒ Mªdj  

(D) czhp 
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58. Which of the following is not an 
advantage of automation?  
(A)   Better safety 
(B) Saving is the cost of 

installation of automation   
(C) Improvement in quality of 

goods produced  
(D) High informational accuracy  

 58. fuEufyf[kr esa ls dkSu Lopkyu dk YkkHk 

ugha gS\ 

(A) csgrj lqj{kk 

(B) cpr Lopkyu dh LFkkiuk dh ykxr 

gS 

(C) mRikfnr eky dh xq.koÙkk esa lq/kkj 

(D) mPPk lwpukRed ‘kq)rk 

59. Rationalization as a method of 
industrial reorganisation was 
initiated in which country? 
(A)   Germany 
(B) Japan 
(C) U. S. A 
(D) U. K 

 59. vkS|ksfxd iquXkZBu dh ,d fof/k ds :i esa 

foosdhdj.k fdl ns’k esa ‘kq: fd;k x;k Fkk\ 

(A) teZuh 

(B) tkiku 

(C) ;wŒ ,lŒ ,Œ 

(D) ;wŒ dsŒ 

60. Which of the following is not an 

aspect of rationalization? 

(A)   Technological aspect 

(B) Legal aspect 

(C) Organizational aspect  

(D) Social aspect 

 60. foosdhdj.k dk vko’;d rRo ugha gS\ 

(A) rduhdh igyw 

(B) oS/kkfud igyw 

(C) laxfBr igyw 

(D) lkekftd igyw 

61. The dangers of rationalization are: 

(A)   Delay in decision making  

(B) Creation of unemployment  

(C) Moregovernmental 

interference  

(D) Creation of monopolies  

 61. foosdhdj.k ds tksf[ke gS% 

(A) fu.kZ; ysus es nsjh 

(B) csjkstxkjh dk l̀tu 

(C) ljdkj dk vf/kd gLr{ksi 

(D) ,dkf/kdkj dk fuekZ.k 
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62. Rationalization deals with: 

(A)   Technological aspect of 

manufacturing only  

(B) Elimination of waste only  

(C) Lesser requirement of capital 

only 

(D) Above all 

 62. foosdhdj.k lEcfU/kr gS% 

(A) dsoy fuekZ.k dk rduhdh igyw 

(B) dsoy vif’k”V dk mUewyu 

(C) dsoy de iwath dh vko’;drk 

(D) ;s lHkh 

63. Which of the following is not a 

type of pool in combination?  

(A)   Management pool  

(B) Output pool 

(C) Traffic pool 

(D) Income and profit pool 

 63. fuEufyf[kr esa ls dkSu lk la;kstu esa iwy 

dk ,d izdkj ugha gS\ 

(A) izcU/k iwy 

(B) mRiknu iwy 

(C) VSªfQd iwy 

(D) vk; o ykHk iwy 

64. Which of the following is not 
Partial form of consolidation?  
(A)   Merger 
(B) Combination rules 
(C) Community of interest  
(D) Holding Company 

 64. fuEufyf[kr esa ls dkSu lk lesdu dk 

vkaf’kd :i ugh gS\ 

(A) foy; 

(B) la;kstu fu;e 

(C) fgr dk leqnk; 

(D) lw=/kkjh dEiuh 

65. From the partial combination is: 
(A)   Holding Company 
(B) Pools and Cartels 
(C) Merger 
(D) Trade association 

 65. vkaf’kd la;kstu dk :i gS% 

(A) lw=/kkjh dEiuh 

(B) iwy o dkVsZy 

(C) foy; 

(D) O;kikj la?k 
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66. In which form the combination is 

complete? 

(A)   Holding Company 

(B) Cartels 

(C) Merger 

(D) Chamber of Commerce 

 66. fdl :i esa la;kstd iw.kZ gksrk gS\ 

(A) lw=/kkjh dEiuh 

(B) dkVsZy 

(C) foy; 

(D) pSEcj vkQ dkWelZ 

67. If a cloth mill combines with a 
cloth and sugar mill it will be 
called: 
(A)   Diagonal Combination 
(B) Lateral Combination 
(C) Circular Combination 
(D) Vertical Combination 

 67. ;fn ,d diM+k fey phuh fey ls feydj 

diM+k o phuh fey cuk ysrs gS rks bls dgk 

tk;sxk% 

(A) fod.khZ la;kstu 

(B) ik’oZ la;kstu 

(C) pØh; la;kstu 

(D) yEcor la;kstu 

68. _______was first used in the 
fordmotor company in the 1940s. 
(A)   Automation 
(B) Standardization 
(C) Rationalization 
(D) Mechanization 

 68. -------------- izFke ckj 1940 ds n’kd esa QksMZ 

eksVj dEiuh eas iz;ksx fd;k x;k FkkA 

(A) Lopkyu 

(B) ekudhdj.k 

(C) foosdhdj.k 

(D) e’khuhdj.k 

69. _____ is the process of rearranging 
a company so that the efficiency 
increases it can lead to many after 
effects.   
(A)   Rationalization 
(B) Business Combination 
(C) Mechanization 
(D) Remuneration  

 69. ---------------- ,d dEiuh dks iqu% O;ofLFkr djus 

dh izfØ;k gS rkfd n{krk esa òf) gks ldsA 

blds izHkko ls vf/kd ifj.kke izkIr gksrs gS% 

(A) foosdhdj.k 

(B) O;olk; la;kstu 

(C) e’khuhdj.k 

(D) ikfjJfed 
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70. When the main production unit of 

the industry combines with other 

entity offering auxiliary products 

or services to the industry it is 

called: 

(A)   Vertical Combination 

(B) Horizontal Combination  

(C) Circular Combination 

(D) Diagonal Combination 

 70. tc m|ksx dh eq[; mRiknu bdkbZ m|ksx 

esa lgk;d mRiknksa ;k laokvksa dh izLrqr 

djus okyh bdkbZ ds lkFk lEcfU/kr gksrs gS 

rks bls dgrs gS% 

(A) yEcor la;kstu 

(B) {kSfrt la;kstu 

(C) ifji= la;kstu 

(D) ik’oZ la;kstu 

71. Which one is not a technique of 

rationalization? 

(A)   Modernization 

(B) Mechanization 

(C) Automation 

(D) Standardization  

 71. dkSu lh rduhd foosdhdj.k dh rduhd 

ugh gS\ 

(A) vk/kqfudhdj.k 

(B) e’khuhdj.k 

(C) Lokpkyu 

(D) ekudhdj.k 

72. ______Is also called as industry or 

Process or sequence integration. 

(A)   Vertical Combination 

(B) Horizontal Combination 

(C) Lateral Combination 

(D) Circular Combination 

 72. ------------------dks m|ksx ;k izfØ;k vuqØe 

,dhdj.k Hkh dgk tkrk gSA 

(A) yEcor la;kstu 

(B) {kSfrt la;kstu 

(C) ik’oZ la;kstu 

(D) ifji= la;kstu 
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73. ……….. is a type of Combination 

of organizations which are 

engaged in the same type of 

business or activity: 

(A)   Vertical Combination 

(B) Horizontal Combination 

(C) Lateral Combination  

(D) Diagonal Combination 

 73. ------------------- laxBu dk ,d izdkj gS tks ,d 

gh izdkj ds O;olk; ;k xfrfof/k;ksa esa 

layXu gS% 

(A) yEcor la;kstu 

(B) {kSfrt la;kstu 

(C) ik’oZ la;kstu 

(D) fod.kZ la;kstu 

74. The combinations established by 

several business units is an 

attempts to attain a common 

objective (which is usually to 

reduce competition) are known as: 

(A)   Business combinations 

(B) Automation  

(C) Compensation  

(D) Profit maximisation 

 74. ,d lkekU; mn~ns’; ¼tks lkekU;r% izfrLi/kkZ 

dks U;wure djus ds fy,½ dks izkIr djus ds 

iz;kl ds dbZ O;olkf;d bdkb;ks }kjk 

LFkkfir la;kstuksa dks fdl :i esa tkuk 

tkrk gS% 

(A) O;olk; la;kstu 

(B) Lopkyu 

(C) {kfriwfrZ 

(D) ykHk vf/kdrehdj.k 

75. What is the main objective of 
business combinations? 
(A)   Wealth maximization 
(B) Remuneration of employees  
(C) Automation 
(D) Profit Maximization 

 75. O;kolkf;d la;kstu dk eq[; mn~ns’; D;k 

gS\ 

(A) /ku vf/kdre djuk 

(B) deZpkfj;ksa dk ikfjJfed 

(C) LOkpkyu 

(D) ykHk dks vf/kdre djuk 
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76. Small scale unit is measured in 

terms of: 

(A)   Capital employed 

(B) No of employees 

(C) Quantity of Production 

(D) Value of Production 

 76. NksVs iSekus dh bdkbZ dks fdl :i esa ekik 

tkrk gS% 

(A) fu;ksftr iwath 

(B) deZpkfj;ksa dh la[;k 

(C) mRiknu dh ek=k 

(D) mRiknu dk ewY; 

77. An optimum firm is one having: 
(A)   Normal cost minimum 
(B) Minimum Average cost 
(C) Minimum average cost in 

long term  
(D) Minimum Average cost in 

short term 

 77. ,d vuwdwyre QeZ og gS ftlds ikl gS% 

(A) U;wure lkekU; ykxr 

(B) U;wure vkSlr ykxr 

(C) nh?kZdky esa U;wure vkSlr ykxr 

(D) y?kqdky esa U;wure vkSlr ykxr 

78. Factors affecting optimum firm 
were first described by: 
(A)   Robinson 
(B) Marshall 
(C) Pigou 
(D) None of these 

 78. vuwdwyre QeZ dks izHkkfor djus okys 

dkjdks dk o.kZu loZizFke fdlds }kjk fd;k 

x;k% 

(A) jkfcUlu 

(B) ek’kZy 

(C) ihxw 

(D) mijksDr dksbZ ugha 

79. Product layout is also called as: 
(A)   Line 
(B) Cellular 
(C) Process 
(D) Functional 

 79. mRikn vfHkU;kl dks vkSj fdl uke ls tkuk 

tkrk gS% 

(A) ykbu 

(B) lsyqyj 

(C) izkslsl 

(D) dk;kZRed 
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80. Every foot of available space 

should be used effectually is a 

principle of: 

(A)   Sequence 

(B) Safety 

(C) Flexibility 

(D) Usage 

 80. miyC/k LFkku ds izR;sd QqV dk izHkkoh<ax 

ls iz;ksx fd;k tkuk pkfg, ;g fl)kUr gS% 

(A) Øe 

(B) lqj{kk 

(C) yphyk 

(D) mi;ksx 

81. The objective of good layout is to:  
(A)   Reduce Production 
(B) Reduce wastages 
(C) Reduce Productivity 
(D) Reduce labour 

 81. ,d vPNs vfHkU;kl dk mn~ns’; gksrk gS% 

(A) mRiknu de djuk 

(B) vif’k”V de djuk 

(C) mRikndrk de djuk 

(D) Je de djuk 

82. Facility planning is also known as: 

(A)   Facilities layout 

(B) Plant layout 

(C) Facilities design 

(D) All of these 

 82. lqfo/kk ;kstuk dks vkSj fdl uke ls tkuk 

tkrk gS% 

(A) lqfo/kk vfHkU;kl 

(B) la;U= vfHkU;kl 

(C) lqfo/kk fMtkbu 

(D) ;s lHkh 

83. In which layout the workstations 
are brought to the material? 
(A)   Fixed position  
(B) Product 
(C) Group 
(D) Process 

 83. fdl vfHkU;kl esa dk;ZLFkyksa dks lkexzh esa 

yk;k tkrk gS\ 

(A) LFkk;h 

(B) mRikn 

(C) lewg 

(D) izfØ;k 
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84. Material handling and plant 

location analysed by: 

(A)   Travel chart 

(B) Bin chart 

(C) Activity chart 

(D) Gnatt chart  

 84. lkexzh izca/ku vkSj la;= LFkku ds fo’ys”k.k 

fdlds }kjk fd;k tkrk gS\ 

(A) ;k=k pkVZ 

(B) fcu pkVZ 

(C) fØ;k pkVZ 

(D) xS.V pkVZ 

85. Material handling is higher in the 

case of: 

(A)   Process layout 

(B) Product layout 

(C) Group layout 

(D) Fixed position layout 

 85. lkexzh lapkyu ds ekeys esa lokZf/kd gS% 

(A) izfØ;k vfHkU;kl 

(B) mRikn vfHkU;kl 

(C) lewg vfHkU;kl 

(D) LFkk;h vfHkU;kl 

86. The plant location is affected to 

maximum extent by the single 

factor:  

(A)   Nearest to market 

(B) Proximity to raw materials 

(C) Cost of land and building 

(D) Low wages of labourers is the 

locality  

 86. la;= LFkku ,dy dkjd }kjk vf/kdre 

lhek rd izHkkfor gksrk gS% 

(A) cktkj ds lehi 

(B) dPps eky ds lehi 

(C) Hkwfe o Hkou dh ykxr 

(D) {ks= ds Jfedksa dh de etnwjh 
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87. Which is not the objective of plant 

layout? 

(A)   To make economical use of 

floor area 

(B) To minimize material 

handling 

(C) To keep the machine break 

down to minimum 

(D) To maintain flexibility in 

arrangement of operation  

 87. fuEu esa ls la;a= vfHkU;kl dk mn~ns’; ugha 

gS\ 

(A) Q’kZ {ks= dk fdQk;rh mi;ksx djuk 

(B) lkexzh lapkyu U;wure djuk 

(C) e’khu dh VwV&QwV dks U;wure djuk 

(D) lapkyu dh O;oLFkk esa yphykiu 

cuk, j[kuk 

88. Most of the large scale modem 

industry using automation Adopt: 

(A)   Process layout 

(B) Product layout 

(C) Group layout 

(D) Fixed position layout 

 88. vf/kdka’k cM+s iSekus ij vk/kqfud m|ksx Lo

pkyu dk mi;ksx djrs gS% 

(A) izfØ;k vfHkU;kl 

(B) mRikn vfHkU;kl 

(C) lewg vfHkU;kl 

(D) LFkk;h vfHkU;kl 

89. “Space available in vertical and 
horizontal directions is most 
effectively utilized” is known as 
principle of:  
(A)   Cubic space utilization  
(B) Flexibility 
(C) Flow 
(D) Minimum distance 

 89. ÞÅ/okZ/kj o {kSfrt fn’kkvksa esa miyC/k LFkku 

dk lcls vf/kd izHkkoh <ax ls mi;ksx fd;k 

tkrk gSAß ;g fl)kUr fdl :Ik esa tkuk 

tkrk gS%  

(A) ?ku LFkku mi;ksx 

(B) yphykiu 

(C) izokg 

(D) U;wure nwjh 
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90. Which of the following industries 

should be located near the vicinity 

of raw material?  

(A)   Cycles 

(B) Televisions  

(C) Sewing machine  

(D) Steel mills 

 90. fuEufyf[kr esa ls dkSu lk m|ksx dPps eky 

ds vklikl fLFkr gksuk pkfg,\ 

(A) lkbfdy 

(B) Vsyhfotu 

(C) flykbZ e’khu 

(D) LVhy fey 

91. Which of the following is not an 

advantage of using product layout? 

(A)   Minimum material handling 

cost 

(B) Minimum inspection 

requirement  

(C) Specialized supervision 

requirement  

(D) None of these 

 91. fuEu esa ls dkSu lk mRikn vfHkU;kl dk 

mi;ksx djus dk ykHk ugha gS\ 

(A) U;wure lkexzh lapkyu ykxr 

(B) U;wure fujh{k.k dh vko’;drk 

(C) fo’ks”k i;Zos{k.k dh vko’;drk 

(D) buesa ls dksbZ ugha 

92. Which of the following does not 

cause to production delay?  

(A)   Shortage of space 

(B) Long distance movement of 

materials  

(C) Spoiled work 

(D) Minimum material handling  

 92. fuEufyf[kr esa ls dkSu ls mRiknu essa nsjh 

dk dkj.k ugha curk gS\ 

(A) LFkku dh deh 

(B) lkexzh dh vkoktkgh dh yach nwjh 

(C) [kjkc dke 

(D) U;wure lkexzh lapkyu 
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93. Transportation cost mainly 

depends on which of the following 

factors: 

(A)   Distance  

(B) Weight of merchandise  

(C) Time required for 

transportation  

(D) All of the above 

 93. ifjogu ykxr eq[; :Ik ls fuEufyf[kr esa 

ls fdl dkjd ij fuHkZj djrh gS% 

(A) nwjh 

(B) eky dk otu 

(C) ifjogu ds fy, le; dh vko’;drk  

(D) mijksDr lHkh 

94. Process layout is also known as: 
(A)   Functional layout 
(B) Batch product layout 
(C) Straight line layout 
(D) Both (A) and (B) 

 94. izfØ;k vfHkU;kl dks dgk tkrk gS% 

(A) dk;kZRed vfHkU;kl 

(B) lewg mRiknu vfHkU;kl 

(C) lh/kh js[kk vfHkU;kl 

(D) (A) o (B) nksuksa 

95. For which of the following 

industry humid climate is helpful? 

(A)   Cotton 

(B) Steel 

(C) Light bulb 

(D) Automobile 

 95. fuEufyf[kr esa ls fdl m|ksx ds fy, vknzZ 

tyok;q lgk;d gksrh gS\ 

(A) dkWVu 

(B) LVhy 

(C) ykbV cYo 

(D) vkWVkseksckby 

96. In ship manufacturing, the type of 
layout preferred is: 
(A)   Product layout 
(B) Process layout 
(C) Fixed position layout 
(D) Combination layout  

 96. tgkt ds fuekZ.k esa] vfHkU;kl ialn fd;k 

tkrk gS%  

(A) mRikn vfHkU;kl 

(B) izfØ;k vfHkU;kl 

(C) LFkk;h vfHkU;kl 

(D) la;kstu vfHkU;kl 
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97. Concept of equilibrium firm was 

propounded by: 

(A)   Marshall 

(B) Pigou 

(C) Robinson 

(D) None of these 

 97. larqfyr QeZ dh vo/kkj.kk fdlds }kjk 

izfrikfnr dh xbZ Fkh\ 

(A) ek’kZy 

(B) ihxw 

(C) jkWfcUlu 

(D) buesa ls dksbZ ugha 

98. The optimum firm is not which 

has: 

(A)   Been started with optimal 

consideration 

(B) Attained optimum after 

expansion 

(C) Average cost of production is 

highest 

(D) Maximum profit at a certain 

level 

 98. vuwdwyre QeZ ugh gSa ftlds ikl% 

(A) vuwdwyre izfrQy ds lkFk ‘kq:vkr 

(B) foLrkj ds ckn vuwdwyrk izkIr djuk 

(C) mRiknu dh vkSlr ykxr vf/kdre gSa 

(D) ,d fuf’pr LFkku rd vf/kdre ykHk 

99. A measure of the size of a business 

unit is not expressed in term of: 

(A)   Net worth 

(B) Volume of output 

(C) Capital employed 

(D) Loan borrowed 

 99. ,d O;kolkf;d bdkbZ ds vkdkj dk eki 

fuEu ds :Ik esa O;Dr ugha fd;k tkrk gS% 

(A) fuoy ewY; 

(B) mRiknu dk ewY; 

(C) fu;ksftr iw¡th 

(D) m/kkj fy;k gqvk dtZ 
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100. Business size is meant by: 

(A)   Plant size 

(B) Firm size 

(C) Industry size 

(D) Factory size 

 100. O;olk; ds vkdkj dk vFkZ gS% 

(A) la;qDr vkdkj 

(B) QeZ vkdkj 

(C) m|ksx vkdkj 

(D) dkj[kkuk vkdkj 

 

****** 
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DO NOT OPEN THE QUESTION BOOKLET UNTIL ASKED TO DO SO 

1. Examinee should enter his / her roll number, subject and Question Booklet 

Series correctly in the O.M.R. sheet, the examinee will be responsible for 

the error he / she has made. 

2. This Question Booklet contains 100 questions, out of which only 75 

Question are to be Answered by the examinee. Every question has 4 

options and only one of them is correct. The answer which seems 

correct to you, darken that option number in your Answer Booklet 

(O.M.R ANSWER SHEET) completely with black or blue ball point 

pen. If any examinee will mark more than one answer of a particular 

question, then the first most option will be considered valid.   

3. Every question has same  marks. Every question you attempt correctly, 

marks will be given according to that. 

4. Every answer should be marked only on Answer Booklet (O.M.R 

ANSWER SHEET).Answer marked anywhere else other than the 

determined place will not be considered valid. 

5. Please read all the instructions carefully before attempting anything on 

Answer Booklet(O.M.R ANSWER SHEET). 

6. After completion of examination please hand over the Answer Booklet 

(O.M.R ANSWER SHEET) to the Examiner before leaving the 

examination room.   

7. There is no negative marking. 

Note: On opening the question booklet, first check that all the pages of the 

question booklet are printed properly in case there is an issue please ask the 

examiner to change the booklet of same series and get another one.  

 


